Attachment A



ATTACHMENT A



SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

325 S. Main Street Salinas, CA 93901 (831) 757-4107 Monterey Santa Cruz San Benito Quotation 587587 Quote Date 08/09/19 Customer Order Project Customer MON215 Terms Net 30 Days

Expiration Date
Account Representative Casey Faylor

Quote To

Kent Brown Co of Mty Resource Mgt. Agency 1441 SCHILLING PL SALINAS CA 93901-4527 Ship To

Kent Brown Co of Mty- New Juvenile Hall 1420 NATIVIDAD RD SALINAS CA 93906-3102

Phone +1 (831) 755-4806 Cell +1 (408) 315-6610 kbrown@kitchell.com Phone +1 (831) 755-4806

Cell +1 (408) 315-6610

kbrown@kitchell.com

Pricing is based on a single delivery during regular hours with elevator accessibility. Pricing does not include the removal or the disposal of any existing furniture.

This quote expires in 30 days.

A signed copy of this quote and/or purchase order is required to place order. Product specified below is made to order. It is non-retur able and non-refundable. Signature of this document accepts all products and finishes contained herein.

REVISED 05/01/19 REVISED 05/03/19 REVISED 06/14/19 REVISED 07/03/19 REVISED 07/05/19 REVISED 08/09/19

Description	Quantity	Unit Price	Extended Price

Building 1A		

Accepted by	_Title	Date

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

325 S. Main Street

Salinas, CA 93901

(831) 757-4107

Monterey Santa Cruz San Benito

Quotation 587587 Page 2 / 45 (cont'd)

Description		Quantity	Unit Price	Extended Price
Outer-41- 5	iniah Summanı			
Worksurface	Finish Summary	_		
	EAR WALNUT (HDL)			
	LEAR WALNUT (HPL)			
	LEAR WALNUT			
Support or Bra	ERLING METALLIC			
Freestanding				
	TERLING METALLIC			
Storage Acces	DLISHED CHROME			
	DLISHED CHROME			
Seating	DEIGHED CHROWL			
_	ATINUM METALLIC			
	RAPHITE			
	RADED IN PR. G: 3701/802			
	RADED IN PR. G: 3701/802			
6053 SE				
6249 PL	ATINUM SOLID			
	orksurface-Straight, Full depth, 30D x 42W	1	106.96	106.96
	CLEAR WALNUT			
	2538 CLEAR WALNUT (HPL)			
	*OPT:WORKSURFACE OPTION			
OMIT: OMIT				
STEELCASE Tag For	TAM002			
rag i oi	Qty Description			
	1 Room 105	_		
2 WS3066 - Wo	orksurface-Straight, Full depth, 30D x 66W	2	150.64	301.28
	CLEAR WALNUT		, , , , , , , , , , , , , , , , , , , ,	3323
	2538 CLEAR WALNUT (HPL)	i		
	*OPT:WORKSURFACE OPTION	•		
OMIT: OMIT	SCALLOPS			
STEELCASE				
Tag For	TAM003			
	Qty Description	<u> </u>		
Accepted by	Title		Date	
	1100			

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

Quotation 587587 Page 3 / 45 (cont'd)

325 S. Main Street Salinas, CA 93901 (831) 757-4107

Description		Quantity	Unit Price	Extended Price
2	1 Room 102 1 Room 108			
3 TS7WKSPT60 - Reinfo		2	17.34	34.68
4 UFP - Leg-Universal p BASIC: 4798 STERLII STEELCASE Tag For TAM00 TAM00	ost NG METALLIC	12	65.85	790.20
front, 18D x 42W x 65 BASIC: 4798 STERLII LOCK: 9201 POLISHE KEYS: SK PLUG TOP OPT: *OPT:TOP STL TOP: STD:1" ST STEELCASE Tag For STCN	OPTIONS EEL TOP		783.37	783.37
6 LOCK9201FR - Lock (Company) LOCK: 9201 POLISHE KEYS: SK SPEC 1-FR350 ROOM 10 STEELCASE Tag For STCN	8	1	N/C	N/C
7 46296189 - Leap Plus, BACK: 5092 GRAPHI PLASTIC: 6249 PLAT UPHLSTRY: 59DF GF DESIGNTEX, INC.	NUM SOLID	2	985.31	1,970.62
Accepted by	Title		Date	

Accepted by

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

Page 4 / 45 (cont'd)

Quotation 587587

Date

325 S. Main Street Salinas, CA 93901 (831) 757-4107 Monterey Santa Cruz San Benito

Description Quantity **Unit Price Extended Price** 7 Purchaser: VENDOR Pattern: LUSTER -3701 Color: CITYSCAPE -802 Direction: HORIZONTAL **CASTERS: *OPT:CASTERS SOFT CST: SOFT CASTERS ARMS: *OPT:ARM OPTIONS LEAP** H/W/P/D: STD:H/W/P/D ARMS **LUMB OPT: *OPT:LUMBAR OPTION LUMBAR: STD:LUMBAR SEAT HGT:** *OPT:BASE ASSY HEIGHT RANGE 4" RANGE: STD:4" PNEU SEAT HEIGHT RANGE **STEELCASE** Tag For CHTK001 **Qty Description** 1 ROOM 111 1 ROOM 131 46216189S - Leap; Chair, 3D knit, Adjustable seat depth, Sewn 686.35 2,059.05 **BACK: 5092 GRAPHITE PLASTIC: 6249 PLATINUM SOLID** UPHLSTRY: 59DF GRADED IN PR. GRP. 6 DESIGNTEX, INC. Purchaser: VENDOR Pattern: LUSTER -3701 Color: CITYSCAPE -802 Direction: HORIZONTAL **CASTERS: *OPT:CASTERS** HARD CST: STD:HARD CASTERS **ARMS: *OPT:ARM OPTIONS LEAP** H/W/P/D: STD:H/W/P/D ARMS **LUMB OPT: *OPT:LUMBAR OPTION LUMBAR: STD:LUMBAR SEAT HGT: *OPT:BASE ASSY HEIGHT RANGE** 5" RANGE: STD:5" PNEU SEAT HEIGHT RANGE **HDR OPT: *OPT:LEAP HEADREST OPTION** NO HDRST: STD:OMIT HEADREST STEELCASE CHTK001 Tag For **Qty Description**

Title

Building 1B

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

Quotation 587587 Page 5 / 45 (cont'd)

325 S. Main Street Salinas, CA 93901 (831) 757-4107

Descr	iption	Quantity	Unit Price	Extended Price
8	1 ROOM 102		<u> </u>	
	1 ROOM 105			
	1 ROOM 108			
9	126A201S - Kart;Chair,Uph seat,Arms,Pneu H adj	2	590.25	1,180.50
25	BASE: 4799 PLATINUM METALLIC			
7	FABRIC: 59DF GRADED IN PR. GRP. 6			
	DESIGNTEX, INC. Purchaser: VENDOR Pattern: LUSTER -3701 Color: CITYSCAPE -802 Direction: HORIZONTAL SHELL: 6053 SEAGULL CASTERS: *OPT:CASTERS SOFT CST: SOFT CASTERS SEATFOAM: *OPT:SEAT FOAM OPTION STD: STD:STANDARD SEAT FOAM STEELCASE Tag For CHNC Qty Description 2 Couseling Space Room 108			
Sub T				7,226.66
	NAS, CITY OF			108.40
	TEREY, COUNTY OF			126.47
	FORNIA, STATE OF			433.60
Total				7,895.13

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

Monterey Santa Cruz

Quotation 587587 Page 6 / 45 (cont'd)

 325 S. Main Street
 Monterey

 Salinas, CA 93901
 Santa Cruz

 (831) 757-4107
 San Benito

Description Quantity **Unit Price Extended Price Subsection Finish Summary** Worksurface 2538 CLEAR WALNUT (HPL) 6245 CLEAR WALNUT Support or Bracket 4798 STERLING METALLIC Freestanding Storage 4798 STERLING METALLIC 9201 POLISHED CHROME Seating 4799 PLATINUM METALLIC 5092 GRAPHITE 59DF GRADED IN PR. G: 3701/802 59DF GRADED IN PR. G: 3701/802 6053 SEAGULL 6249 PLATINUM SOLID 10 WS3042 - Worksurface-Straight, Full depth, 30D x 42W 106.96 106.96 **EDGE: 6245 CLEAR WALNUT** TOP-SURF: 2538 CLEAR WALNUT (HPL) WKSF OPT: *OPT:WORKSURFACE OPTION **OMIT: OMIT SCALLOPS STEELCASE** TAM002 **Tag For Qty Description** 1 ROOM 105 2 150.64 301.28 11 WS3066 - Worksurface-Straight, Full depth, 30D x 66W **EDGE: 6245 CLEAR WALNUT** TOP-SURF: 2538 CLEAR WALNUT (HPL) WKSF OPT: *OPT:WORKSURFACE OPTION **OMIT: OMIT SCALLOPS** STEELCASE Tag For **TAM003 Qty Description** 1 ROOM 102 1 ROOM 108

Accepted by	Title	<u> </u>	Date_	

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

Quotation 587587 Page 7 / 45 (cont'd)

325 S. Main Street Salinas, CA 93901 (831) 757-4107

Descr	iption		Quantity	Unit Price	Extended Price
12	TS7WKSPT60 STEELCASE Tag For	7 - Reinforcing channel, 60W TAM003 Qty Description	2	17.34	34.68
		1 ROOM 102 1 ROOM 108			
13	UFP - Leg-Uni BASIC: 4798 STEELCASE Tag For	Versal post STERLING METALLIC TAM002 TAM003 Qty Description 4 ROOM 105 8 ROOM 102 & 108	12	65.85	790.20
14	Front, 18D x 42 BASIC: 4798 S LOCK: 9201 F KEYS: SK PLI TOP OPT: *OI	STERLING METALLIC POLISHED CHROME	1	783.37	783.37
15	PLASTIC: 624 UPHLSTRY: 5 DESIGNTE Purchaser: Pattern: LU Color: CITY Direction: H CASTERS: *C SOFT CST: S ARMS: *OPT: H/W/P/D: STE	9 PLATINUM SOLID 99DF GRADED IN PR. GRP. 6 EX, INC.	3	985.31	2,955.93
Acce	pted by	Title		Date	

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

Quotation 587587

325 S. Main Street Salinas, CA 93901 (831) 757-4107

Monterey Santa Cruz San Benito

Page 8 / 45 (cont'd)

Descri	ption	Quantity	Unit Price	Extended Price
15	LUMBAR: STD:LUMBAR			
	SEAT HGT: *OPT:BASE ASSY HEIGHT RANGE			
	4" RANGE: STD:4" PNEU SEAT HEIGHT RANGE			
	STEELCASE			
	Tag For CHTK001			
	Qty Description			
	1 ROOM 106			
	1 ROOM 111			
	1 ROOM 131			
16	46216189S - Leap; Chair, 3D knit, Adjustable seat depth, Sewn	2	696.71	1,393.42
Qz	BACK: 5092 GRAPHITE			
X	PLASTIC: 6249 PLATINUM SOLID			
	UPHLSTRY: 59DF GRADED IN PR. GRP. 6			
	DESIGNTEX, INC. Purchaser: VENDOR Pattern: LUSTER -3701 Color: CITYSCAPE -802 Direction: HORIZONTAL CASTERS: *OPT:CASTERS			
	SOFT CST: SOFT CASTERS			
	ARMS: *OPT:ARM OPTIONS LEAP			
	H/W/P/D: STD:H/W/P/D ARMS			
	LUMB OPT: *OPT:LUMBAR OPTION			
	LUMBAR: STD:LUMBAR			
	SEAT HGT: *OPT:BASE ASSY HEIGHT RANGE			
	5" RANGE: STD:5" PNEU SEAT HEIGHT RANGE			
	HDR OPT: *OPT:LEAP HEADREST OPTION			
	NO HDRST: STD:OMIT HEADREST			
	STEELCASE Tag For CHTK001			
	Qty Description			
	1 ROOM 102			
	1 ROOM 105			
17	126A201S - Kart;Chair,Uph seat,Arms,Pneu H adj	2	590.25	1,180.50
	BASE: 4799 PLATINUM METALLIC			,
7	FABRIC: 59DF GRADED IN PR. GRP. 6			
•	DESIGNTEX, INC. Purchaser: VENDOR Pattern: LUSTER -3701			
Acce	oted byTitle		Date	

Accepted by

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

Quotation 587587 Page 9 / 45 (cont'd)

Date

325 S. Main Street Salinas, CA 93901 (831) 757-4107 Monterey Santa Cruz San Benito

Description Quantity **Unit Price Extended Price** 17 Color: CITYSCAPE -802 Direction: HORIZONTAL SHELL: 6053 SEAGULL **CASTERS:** *OPT:CASTERS **SOFT CST: SOFT CASTERS SEATFOAM: *OPT:SEAT FOAM OPTION STD: STD:STANDARD SEAT FOAM STEELCASE** CHNC Tag For **Qty Description** 2 Counseling Space Room 108 **Sub Total** 7,546.34 SALINAS, CITY OF 113.19 MONTEREY, COUNTY OF 132.07 CALIFORNIA, STATE OF 452.79 **Total** 8,244.39 Bldg 2 **Subsection Finish Summary** Worksurface 2538 CLEAR WALNUT (HPL) 6245 CLEAR WALNUT Support or Bracket 4798 STERLING METALLIC Freestanding Storage **4798 STERLING METALLIC** 9201 POLISHED CHROME Seating 4799 PLATINUM METALLIC 5092 GRAPHITE 59DF GRADED IN PR. G: 3701/802 59DF GRADED IN PR. G: 3701/802 6053 SEAGULL 6249 PLATINUM SOLID 2 106.96 213.92 18 WS3042 - Worksurface-Straight, Full depth, 30D x 42W **EDGE: 6245 CLEAR WALNUT** TOP-SURF: 2538 CLEAR WALNUT (HPL)

Title

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

Quotation 587587 Page 10 / 45 (cont'd)

325 S. Main Street Salinas, CA 93901 (831) 757-4107

Descr	iption		Quantity	Unit Price	Extended Price
18	WKSF OPT: *	OPT:WORKSURFACE OPTION			
	OMIT: OMIT	SCALLOPS			
	STEELCASE				
	Tag For	TAM002			
		Qty Description			
		1 ROOM 106			
		1 ROOM 107			
19	WS3066 - Wo	rksurface-Straight, Full depth, 30D x 66W	1	150.64	150.64
	EDGE : 6245 (CLEAR WALNUT			
	TOP-SURF: 2	538 CLEAR WALNUT (HPL)			
	WKSF OPT: *	OPT:WORKSURFACE OPTION			
	OMIT: OMIT	SCALLOPS			
	STEELCASE				
	Tag For	TAM003			
		Qty Description			
		1 ROOM 103			
20		9 - Reinforcing channel, 39W	1	17.34	17.34
	STEELCASE				
	Tag For	TAM003			
		Qty Description 1 ROOM 103			
21	UFP - Leg-Un		12	65.85	790.20
		STERLING METALLIC			
	STEELCASE	TAMOOO			
	Tag For	TAM002 TAM003			
		Qty Description			
		8 ROOM 106 & ROOM 107			
		4 ROOM 103			
22	RSC18305KF	- Cabinet-Storage, 4 adjustable shelves, Flush steel	1	666.61	666.61
	front, 18D x 30				
		STERLING METALLIC			
		POLISHED CHROME			
	KEYS: SK PL	UG			
	TOP OPT: *O	PT:TOP OPTIONS			
	STL TOP: ST	D:1" STEEL TOP			
	STEELCASE	0701/04 0			
	Tag For	STCN001 S			
۸	ما امما	T:41 -		D-4-	
Acce	piea by	Title		Date	

CASTERS: *OPT:CASTERS

HARD CST: STD:HARD CASTERS

ARMS: *OPT:ARM OPTIONS LEAP

H/W/P/D: STD:H/W/P/D ARMS

LUMB OPT: *OPT:LUMBAR OPTION

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

Quotation 587587 Page 11 / 45 (cont'd)

325 S. Main Street Salinas, CA 93901 (831) 757-4107 Monterey Santa Cruz San Benito

Description Quantity **Unit Price Extended Price** 22 **Qty Description** 1 ROOM 103 3 985.31 2,955.93 23 46296189 - Leap Plus; Chair, 3D knit, Adjustable seat depth **BACK: 5092 GRAPHITE** PLASTIC: 6249 PLATINUM SOLID UPHLSTRY: 59DF GRADED IN PR. GRP. 6 DESIGNTEX, INC. Purchaser: VENDOR Pattern: LUSTER -3701 Color: CITYSCAPE -802 Direction: HORIZONTAL **CASTERS: *OPT:CASTERS SOFT CST: SOFT CASTERS** ARMS: *OPT:ARM OPTIONS LEAP H/W/P/D: STD:H/W/P/D ARMS **LUMB OPT: *OPT:LUMBAR OPTION LUMBAR: STD:LUMBAR SEAT HGT: *OPT:BASE ASSY HEIGHT RANGE** 4" RANGE: STD:4" PNEU SEAT HEIGHT RANGE **STEELCASE** CHTK001 S Tag For **Qty Description** 1 ROOM 109 1 ROOM 113 1 ROOM 133 24 2 686.35 1,372.70 46216189S - Leap; Chair, 3D knit, Adjustable seat depth, Sewn **BACK: 5092 GRAPHITE PLASTIC: 6249 PLATINUM SOLID** UPHLSTRY: 59DF GRADED IN PR. GRP. 6 DESIGNTEX, INC. Purchaser: VENDOR Pattern: LUSTER -3701 Color: CITYSCAPE -802 Direction: HORIZONTAL

Accepted by	Title	Date
Accepted by	11116	Date

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

325 S. Main Street

Salinas, CA 93901

Monterey Santa Cruz

Quotation 587587 Page 12 / 45 (cont'd)

(831) 757-4107 San Benito Description Quantity **Unit Price Extended Price** 24 **LUMBAR: STD:LUMBAR SEAT HGT:** *OPT:BASE ASSY HEIGHT RANGE 5" RANGE: STD:5" PNEU SEAT HEIGHT RANGE **HDR OPT: *OPT:LEAP HEADREST OPTION** NO HDRST: STD:OMIT HEADREST STEELCASE Tag For CHTK001 S **Qty Description** 1 ROOM 106 1 ROOM 107 590.25 1,180.50 25 126A201S - Kart; Chair, Uph seat, Arms, Pneu H adj **BASE: 4799 PLATINUM METALLIC** FABRIC: 59DF GRADED IN PR. GRP. 6

DESIGNTEX, INC.
Purchaser: VENDOR
Pattern: LUSTER -3701
Color: CITYSCAPE -802
Direction: HORIZONTAL
SHELL: 6053 SEAGULL

CASTERS: *OPT:CASTERS
SOFT CST: SOFT CASTERS

SEATFOAM: *OPT:SEAT FOAM OPTION **STD**: STD:STANDARD SEAT FOAM

STEELCASE

Tag For CHNC

Qty Description

2 Couseling Space Room 108

 Sub Total
 7,347.84

 SALINAS, CITY OF
 110.22

 MONTEREY, COUNTY OF
 128.58

 CALIFORNIA, STATE OF
 440.88

 Total
 8,027.52

Bldg 4

Accepted by	Title	Date

Accepted by

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

325 S. Main Street

Salinas, CA 93901

(831) 757-4107

Page 13

Monterey Santa Cruz San Benito

Quotation 587587 Page 13 / 45 (cont'd)

Date

Description Quantity **Unit Price Extended Price Subsection Finish Summary** Panel Accessory 59DB GRADED IN PR. G: 3468U/811 Worksurface 2538 2538 - CLEAR WALNUT (HPL) 2538 CLEAR WALNUT (HPL) 2538 CLEAR WALNUT (HPL) 2538 CLEAR WALNUT (HPL) 4799 4799 - PLATINUM METALLIC 6245 6245 - CLEAR WALNUT **6245 CLEAR WALNUT** 6245 CLEAR WALNUT 6245 CLEAR WALNUT Support or Bracket 4798 STERLING METALLIC Worksurface Accessory 4799 PLATINUM METALLIC 4799 PLATINUM METALLIC Overdesk Storage 25L8 CLEAR WALNUT (LPL) 25L8 CLEAR WALNUT (LPL) 9201 POLISHED CHROME Freestanding Storage 25L8 CLEAR WALNUT (LPL) 25L8 CLEAR WALNUT (LPL) 4798 STERLING METALLIC 4798 STERLING METALLIC 9201 POLISHED CHROME 9201 POLISHED CHROME 9201 POLISHED CHROME

Title

Accepted by

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

Quotation 587587 Page 14 / 45 (cont'd)

Date

325 S. Main Street Salinas, CA 93901 (831) 757-4107 Monterey Santa Cruz San Benito

Description Quantity **Unit Price Extended Price** Storage Accessory 0835 BLACK Pedestal 25L8 CLEAR WALNUT (LPL) 9201 POLISHED CHROME File 25L8 CLEAR WALNUT (LPL) 25L8 CLEAR WALNUT (LPL) 4798 STERLING METALLIC 4798 STERLING METALLIC 9201 POLISHED CHROME 9201 POLISHED CHROME 9201 POLISHED CHROME Table 2538 CLEAR WALNUT (HPL) 25L8 CLEAR WALNUT (LPL) 25L8 CLEAR WALNUT (LPL) 4798 STERLING METALLIC 4798 STERLING METALLIC **4799 PLATINUM METALLIC 6245 CLEAR WALNUT** FPLS FLAT PLASTIC EDGE 2730 ARCTIC WHITE Seating **4799 PLATINUM METALLIC 4799 PLATINUM METALLIC** 4799 4799 - PLATINUM METALLIC 5092 GRAPHITE 5691 ORCA 59DF GRADED IN PR. G: 3701/802 59DF GRADED IN PR. G: 3701/802 6053 SEAGULL 6249 PLATINUM SOLID 6335 WASABI

Title

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

Quotation 587587 Page 15 / 45 (cont'd)

325 S. Main Street Salinas, CA 93901 (831) 757-4107

Description	Quantity	Unit Price	Extended Price
6335 WASABI			
6336 JAZZ			
6336 JAZZ			
6336 6336 - JAZZ			
Lighting			
6000 BLACK			
TS5ASMD72 - Cabinet-Overhead storage, Credenza, 4 do 72W x 36H BASIC: 25L8 CLEAR WALNUT (LPL) TOP-SURF: 25L8 CLEAR WALNUT (LPL) EDGE: *OPT:EDGE PROFILE OPTIONS FLAT: STD:FLAT EDGE PROFILE DOOR OPT: *OPT:DOOR OPTION LAM LK: LAMINATE DOOR - LOCKING LOCK: LOCK POL CHR: *LOCK:POLISHED CHROME 9201: POLISHED CHROME STEELCASE Tag For CRED 2	pors, 16D x 2	635.76	1,271.52
Qty Description			
1 ROOM 167			
1 ROOM 168			
TS5ATB72 - Tackboard-Straight, 68 11/16W x 17H TKBD: 59DB GRADED IN PR. GRP. 2 DESIGNTEX, INC. Purchaser: VENDOR Pattern: GAMUT UNFINISHED -3468U Color: COBBLESTONE -811 FAB DIR: *OPT:FABRIC DIRECTION HORZ: HORIZONTAL APPLICATION ONLY STEELCASE Tag For CRED 2 Qty Description 1 ROOM 167 1 ROOM 168	2	200.42	400.84
28 LSL18 - Light-Shelf, LED, 18 1/2W BASIC: 6000 BLACK MNTG OPT: *OPT:MOUNTING OPTIONS	2	192.50	385.00
Accepted byTitle_		Date	

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

325 S. Main Street Salinas, CA 93901 (831) 757-4107

Monterey Santa Cruz San Benito

Quotation 587587 Page 16 / 45 (cont'd)

Desc	ription		Quantity	Unit Price	Extended Price
28		: FASTENER KIT FOR WOOD/ALUMINUM			
	STEELCASE Tag For	: CRED 2			
	rag For	Qty Description			
		1 ROOM 167			
		1 ROOM 168			
29	TS5ACLL24	72 - Credenza-Double lateral files, 24D x 72W	2	1,100.62	2,201.24
	BASIC: 25L8	CLEAR WALNUT (LPL)			
T	LOCK: 9201	POLISHED CHROME			
	TOP-SURF:	25L8 CLEAR WALNUT (LPL)			
	EDGE: *OPT	:EDGE PROFILE OPTIONS			
	FLAT: STD:	FLAT EDGE PROFILE			
		PT:POWER OPTIONS			
		OPT:PULL OPTIONS			
		LEDGE PULL PLATINUM			
	STEELCASE				
	Tag For	CRED 2			
	_	Qty Description			
		1 ROOM 167			
		1 ROOM 168			
30	UFP - Leg-U	niversal post	20	65.85	1,317.00
	BASIC: 4798	STERLING METALLIC			
	STEELCASE				
	Tag For	TAM002			
		TAM003 Qty Description			
		4 Room 150			
		4 Room 145			
		4 Room 144			
		4 Room 113			
		4 Room 114			
31	WS3042 - W	orksurface-Straight, Fu ll depth, 30D x 42W	2	106.96	213.92
	EDGE : 6245	CLEAR WALNUT			
	TOP-SURF:	2538 CLEAR WALNUT (HPL)			
	WKSF OPT:	*OPT:WORKSURFACE OPTION			
	OMIT: OMIT	SCALLOPS			
	STEELCASE				
	Tag For	TAM002			
۸ ـ -	anata al lecc			D-1	
HCCE	epted by	Title_		Date	

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

Quotation 587587 Page 17 / 45 (cont'd)

325 S. Main Street Salinas, CA 93901 (831) 757-4107

Descri	iption		Quantity	Unit Price	Extended Price
31		Qty Description			
		1 ROOM 113	•		
		1 ROOM 114			
32	WS3066 - Wor	ksurface-Straight, Full depth, 30D x 66W	3	150.64	451.92
	EDGE : 6245 C	CLEAR WALNUT			
	TOP-SURF: 25	538 CLEAR WALNUT (HPL)			
	WKSF OPT: *0	OPT:WORKSURFACE OPTION			
	OMIT: OMIT S	SCALLOPS			
	STEELCASE				
	Tag For	TAM003			
		Qty Description 1 ROOM 144			
		1 ROOM 144 1 ROOM 145			
		1 ROOM 150			
33	VKEEUSUDIC	- Akira; Table-Rectangle, Flip top, T base, Fixed height,	2	891.93	1,783.86
	Casters, 60L x		_	001.00	1,700.00
TA	BASE : 4799 P	LATINUM METALLIC			
	EDGE : 6245 C	LEAR WALNUT			
	EDGETYPE: F	PLS FLAT PLASTIC EDGE			
		EAR WALNUT (HPL)			
	STEELCASE	Ohr Decemention			
	Tag For	Qty Description 2 Room 147			
				47.04	
34	TS7WKSPT60 STEELCASE	- Reinforcing channel, 60W	3	17.34	52.02
	Tag For	TAM003			
		Qty Description			
		1 ROOM 144	•		
		1 ROOM 145			
		1 ROOM 150			
35	TS5AFMBF - F	Pedestal, Mobile, 1 box / 1 file, 18D x 15W x 21 1/2H	6	377.13	2,262.78
	BASIC: 25L8 0	CLEAR WALNUT (LPL)			
	LOCK : 9201 P	OLISHED CHROME			
	PULL OPT: *O	PT:PULL OPTIONS			
	LEDGEPLT: L	EDGE PULL PLATINUM			
	STEELCASE				
	Tag For	DEOF001 DEOF002			
A		-		5 .	
Acce	pted by	Title		Date	

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

Quotation 587587 Page 18 / 45 (cont'd)

325 S. Main Street Salinas, CA 93901 (831) 757-4107 Monterey Santa Cruz San Benito

Descri	ption	Quantity	Unit Price	Extended Price
35	Qty Description			
	2 ROOM 151			
	4 ROOM 165, 167, 168			
36	TS5ALATF4 - Lateral file-Freestanding, 4 drawers, 20D x 36W x 58H	4	996.67	3,986.68
	BASIC: 25L8 CLEAR WALNUT (LPL)			
	LOCK: 9201 POLISHED CHROME			
	TOP-SURF: 25L8 CLEAR WALNUT (LPL)			
	EDGE: *OPT:EDGE PROFILE OPTIONS			
	FLAT: STD:FLAT EDGE PROFILE			
	PULL OPT: *OPT:PULL OPTIONS			
	LEDGEPLT: LEDGE PULL PLATINUM			
	STEELCASE			
	Tag For STLF001			
	Qty Description			
	1 ROOM 168			
	1 ROOM 167 2 ROOM 151			
37	TS5ALFTBR - Payback; Rail-Lateral file, Front to back	8	39.50	316.00
	BASIC: 0835 BLACK			
	STEELCASE			
38	RLF18424F - Universal; Lateral file, 4 drawers, Flush steel front, 18D	8	894.35	7,154.80
	x 42W x 52H BASIC: 4798 STERLING METALLIC			
	LOCK: 9201 POLISHED CHROME			
	KEYS: SK PLUG			
	LOCK OPT: *OPT:DRAWER LOCK OPTIONS			
	CENTRAL: STD:CENTRAL LOCKING DWR			
	DWR ACC: *OPT:FILE DWR ACCESSORIES			
	HF: STD:DRAWERS WITH HF'S			
	WGHT PKG: *OPT:COUNTERWEIGHT PKG			
	WEIGHT: COUNTERWEIGHT PKG STEELCASE			
	Tag For STFL002 S			
	Qty Description			

Accepted by Title Date	Accepted by	Title	Date
------------------------	-------------	-------	------

8 ROOM 117 RECORDS ROOM

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

Pa Monterey Santa Cruz

San Benito

Quotation 587587 Page 19 / 45 (cont'd)

325 S. Main Street Salinas, CA 93901 (831) 757-4107

yem,				
Descri	ption	Quantity	Unit Price	Extended Price
39	RLF18365F - Universal; Lateral file, 1 lift up door / fixed shelf, 4 drawers, Flush steel front, 18D x 36W x 65 1/2H BASIC: 4798 STERLING METALLIC LOCK: 9201 POLISHED CHROME KEYS: SK PLUG TOP OPT: *OPT:TOP OPTIONS STL TOP: STD:1" STEEL TOP DOOR: *OPT:LIFT UP DOOR/SHELF FIX SHLF: STD:DOOR W/FIXED SHELF LOCK OPT: *OPT:DRAWER LOCK OPTIONS CENTRAL: STD:CENTRAL LOCKING DWR DWR ACC: *OPT:FILE DWR ACCESSORIES HF: STD:DRAWERS WITH HF'S WGHT PKG: *OPT:COUNTERWEIGHT PKG WEIGHT: COUNTERWEIGHT PKG STEELCASE Tag For FILE COPY ROOM 169	2	928.33	1,856.66
40	800RW - Rail STEELCASE	48	13.01	624.48
41	RSC18425KF - Cabinet-Storage, 4 adjustable shelves, Flush steel front, 18D x 42W x 65 1/2H BASIC: 4798 STERLING METALLIC LOCK: 9201 POLISHED CHROME KEYS: SK PLUG TOP OPT: *OPT:TOP OPTIONS STL TOP: STD:1" STEEL TOP STEELCASE Tag For STCN003 S Qty Description ROOM 156	-	783.37	1,566.74
42	RWV24154AF - Tower-Workstation vertical, 4 12H drawers, Flush steel front, 24D x 15W x 52H BASIC: 4798 STERLING METALLIC LOCK: 9201 POLISHED CHROME KEYS: SK PLUG TOP OPT: *OPT:TOP OPTIONS STL TOP: STD:1" STEEL TOP	5	700.23	3,501.15

Accepted by______Title______ Date_____

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

Quotation 587587 Page 20 / 45 (cont'd)

325 S. Main Street Salinas, CA 93901 (831) 757-4107

Descri	iption		Quantity	Unit Price	Extended Price
42	LOCK OPT: *	OPT:DRAWER LOCK OPTIONS			
		STD:CENTRAL LOCKING DWR			
		*OPT:COUNTERWEIGHT PKG			
		DUNTERWEIGHT PKG			
	STEELCASE	NOTIFICATION OF THE PROPERTY O			
	Tag For	STLF003 S			
	J	Qty Description			
		5 ROOM 165	_		
43	RXADRL15 - STEELCASE	Rail-Drawer, Package quantity 2, 15W	20	9.76	195.20
	Tag For	STLF003 S			
		Qty Description			
		20 ROOM 165			
44		4 - Classic Payback; Bookcase, 14D x 36W x 66H CLEAR WALNUT (LPL)	2	308.52	617.04
		25L8 CLEAR WALNUT (LPL)			
		EDGE PROFILE OPTIONS			
		LAT EDGE PROFILE			
	STEELCASE	EAT EDGE FROMEE			
	Tag For	BOOK001 L/S			
	J	Qty Description			
		1 Room 167	<u> </u>		
		1 Room 168			
45	TS5AB663014	4 - Classic Payback; Bookcase, 14D x 30W x 66H	2	295.63	591.26
	BASIC : 25L8	CLEAR WALNUT (LPL)	I		
	TOP-SURF: 2	5L8 CLEAR WALNUT (LPL)			
	EDGE: *OPT:	EDGE PROFILE OPTIONS	-		
	FLAT: STD:F	LAT EDGE PROFILE			
	STEELCASE				
	Tag For	BOOK001 L/S			
		Qty Description			
		2 ROOM 151			
46	BFRQ36 - Tab	ole-Square, 36D	2	161.28	322.56
	EDGE : 6245 0	CLEAR WALNUT			
	TOP-SURF: 2	538 CLEAR WALNUT (HPL)			
	STEELCASE				
	Tag For	BOOK001 L/S			
Acce	oted by	Title		Date	

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

Quotation 587587 Page 21 / 45 (cont'd)

325 S. Main Street Salinas, CA 93901 (831) 757-4107

Description		Quantity	Unit Price	Extended Price
46	Qty Description			
	1 ROOM 167			
	1 ROOM 168			
Casters, 60L	C - Akira; Table-Rectangle, Flip top, T base, Fixed height, & 30W STERLING METALLIC	11	891.93	9,811.23
	CLEAR WALNUT			
EDGETYPE:	FPLS FLAT PLASTIC EDGE			
TOP : 2538 Cl	LEAR WALNUT (HPL)			
STEELCASE	_			
Tag For	TATG002			
	Qty Description			
	10 ROOM 140 Vistor Room 1 Room 147			
48 TS5ATRE489	6 - Table top-Rectangular, 48D x 96W	2	651.97	1,303.94
TOP-SURF: 2	25L8 CLEAR WALNUT (LPL)			
EDGE: *OPT:	EDGE PROFILE OPTIONS			
FLAT: STD:F	LAT EDGE PROFILE			
POWER: *OP	T:POWER OPTIONS			
	POWER UNITS			
STEELCASE	TAGNI			
Tag For	TACN Qty Description			
	2 CONFERENCE ROOM			
			040.47	0.40.00
	Base-Table, Rectangular, 24D x 4W x 28H	4	212.47	849.88
STEELCASE	CLEAR WALNUT (LPL)			
Tag For	TACN			
149 1 01	Qty Description			
	4 CONFERENCE ROOM			
50 BX36 - Base-	X. 36W	2	163.52	327.04
	STERLING METALLIC			
COLUMN: 47	98 STERLING METALLIC			
STEELCASE	_			
Tag For	TAMP006			
	Qty Description			
	1 ROOM 167			
	1 ROOM168			
Accepted by	Title		Date	

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

325 S. Main Street

Salinas, CA 93901 (831) 757-4107 Monterey Santa Cruz San Benito

Paç

Quotation 587587 Page 22 / 45 (cont'd)

•				
Description		Quantity	Unit Price	Extended Price
51 MIGRELRO	Q - Migration; Desk-Rectangle, Electric	4	775.28	3,101.12
Depth : 29.	00000			
Width: 70.0	00000			
Top Surfac HPL)	ce Finish: Woodgrain HPL 2538 - CLEAR WALNUT (I		
Edge Finis	sh: Plastic - PG1 6245 - CLEAR WALNUT			
Base Finis	h: Smooth Metallic 4799 - PLATINUM METALLIC			
Controller	: Up/Down Controller	-		
STEELCAS	SE			
Tag For	DEOF002			
	Qty Description			
	1 ROOM 167	_		
	1 ROOM 168			
	2 ROOM 165			
52 MIGRELRO Depth: 29.	⊋ - Migration; Desk-Rectangle, Electric	2	729.08	1,458.16
Width: 58.0				
HPL)	ce Finish: Woodgrain HPL 2538 - CLEAR WALNUT (sh: Plastic - PG1 6245 - CLEAR WALNUT	 		
Base Finis	h: Smooth Metallic 4799 - PLATINUM METALLIC			
Controller	: Up/Down Controller	'		
STEELCAS	SE.			
Tag For	DEOF001			
	Qty Description			
	2 ROOM 151	_		
53 MIGCBK4 STEELCAS	- Migration; Bracket-Cable, Package quantity 4	6	16.28	97.68
Tag For	DEOF001			
	DEOF002			
	Qty Description			
	2 ROOM 151	_		
	2 ROOM 165			
	1 ROOM 167			
	1 ROOM 168			
54 CPUMINI - STEELCAS	CPU cradle, Mini	6	88.83	532.98
Tag For	DEOF001			
149101	DEOF002			
A			Det	
Accepted by	Title		Date	

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

Quotation 587587 Page 23 / 45 (cont'd)

325 S. Main Street Salinas, CA 93901 (831) 757-4107

Descri	ption		Quantity	Unit Price	Extended Price
54		Qty Description			
		2 ROOM 151	•		
		2 ROOM 165			
		1 ROOM 167			
		1 ROOM 168			
55	64W	ereen-Modesty and privacy, Cableway, Universal clamp,	4	503.24	2,012.96
6	BASIC : 4799	PLATINUM METALLIC			
	STEELCASE				
	Tag For	DEOF002			
		Qty Description			
		2 ROOM 165			
		1 ROOM 167			
		1 ROOM 168			
56	ACMP52 - Sc 52W	reen-Modesty and privacy, Cableway, Universal clamp,	2	433.78	867.56
6	BASIC: 4799	PLATINUM METALLIC			
id.	STEELCASE				
	Tag For	DEOF001			
		Qty Description			
		2 ROOM 151	•		
57	FPASINGLE	CC - FYI; Monitor arm-Single, C clamp bracket	12	203.04	2,436.48
L	BASIC: 4799	PLATINUM METALLIC			
*	STEELCASE				
	Tag For	DEOF001			
		DEOF002			
		Qty Description			
		4 ROOM 151			
		4 ROOM165			
		2 ROOM 167			
		2 ROOM 168			
58	126A201S - K	Kart;Chair,Uph seat,Arms,Pneu H adj	46	590.25	27,151.50
er-	BASE : 4799 I	PLATINUM METALLIC			
7	FABRIC: 59D	F GRADED IN PR. GRP. 6			
	DESIGNT	EX, INC.			
	Purchaser				
		JSTER -3701			
		YSCAPE -802 HORIZONTAL			
	SHELL: 6053				
Accep	oted by	Title		Date_	

Accepted by

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

325 S. Main Street

Salinas, CA 93901

(831) 757-4107

Monterey Santa Cruz

San Benito

Quotation 587587 Page 24 / 45 (cont'd)

Date

Description Quantity **Unit Price Extended Price** 58 **CASTERS: *OPT:CASTERS SOFT CST: SOFT CASTERS SEATFOAM: *OPT:SEAT FOAM OPTION** STD: STD:STANDARD SEAT FOAM STEELCASE Tag For CHNC **Qty Description** 4 ROOM 168 4 ROOM 167 14 CONFERENCE ROOM 4 ROOM 165 2 ROOM 151 3 ROOM 150 3 ROOM 149 4 ROOM 147 Volunteer 1 ROOM 113 1 ROOM 114 6 EXTRA 2 871.72 59 46296189 - Leap Plus; Chair, 3D knit, Adjustable seat depth 1,743.44 **BACK: 5092 GRAPHITE** PLASTIC: 6249 PLATINUM SOLID UPHLSTRY: 59DF GRADED IN PR. GRP. 6 DESIGNTEX, INC. Purchaser: VENDOR Pattern: LUSTER -3701 Color: CITYSCAPE -802 Direction: HORIZONTAL **CASTERS: *OPT:CASTERS SOFT CST: SOFT CASTERS ARMS: *OPT:ARM OPTIONS LEAP ARMLESS: NO ARMS LUMB OPT: *OPT:LUMBAR OPTION LUMBAR: STD:LUMBAR SEAT HGT: *OPT:BASE ASSY HEIGHT RANGE** 4" RANGE: STD:4" PNEU SEAT HEIGHT RANGE **STEELCASE Tag For** CHTK002 **Qty Description** 2 Central Control

Title

LUMB OPT: *OPT:LUMBAR OPTION

SEAT HGT: *OPT:BASE ASSY HEIGHT RANGE

LUMBAR: STD:LUMBAR

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

Monterey Santa Cruz

San Benito

Quotation 587587 Page 25 / 45 (cont'd)

325 S. Main Street Salinas, CA 93901 (831) 757-4107

Description **Unit Price Extended Price** Quantity 7 60 985.31 6,897.17 46296189 - Leap Plus; Chair, 3D knit, Adjustable seat depth **BACK: 5092 GRAPHITE PLASTIC: 6249 PLATINUM SOLID** UPHLSTRY: 59DF GRADED IN PR. GRP. 6 DESIGNTEX, INC. Purchaser: VENDOR Pattern: LUSTER -3701 Color: CITYSCAPE -802 Direction: HORIZONTAL **CASTERS: *OPT:CASTERS SOFT CST: SOFT CASTERS ARMS: *OPT:ARM OPTIONS LEAP** H/W/P/D: STD:H/W/P/D ARMS **LUMB OPT: *OPT:LUMBAR OPTION LUMBAR: STD:LUMBAR SEAT HGT: *OPT:BASE ASSY HEIGHT RANGE** 4" RANGE: STD:4" PNEU SEAT HEIGHT RANGE STEELCASE CHTK001 Tag For **Qty Description** 1 Room 150 Home Supervision Conf 2 Room 151 Home Supervision Offi 2 Room 165 Supervisor's Office 2 Room 102 Controll Room 696.71 2,090.13 61 46216189S - Leap; Chair, 3D knit, Adjustable seat depth, Sewn 3 **BACK: 5092 GRAPHITE PLASTIC: 6249 PLATINUM SOLID** UPHLSTRY: 59DF GRADED IN PR. GRP. 6 DESIGNTEX, INC. Purchaser: VENDOR Pattern: LUSTER -3701 Color: CITYSCAPE -802 Direction: HORIZONTAL **CASTERS: *OPT:CASTERS SOFT CST: SOFT CASTERS ARMS: *OPT:ARM OPTIONS LEAP** H/W/P/D: STD:H/W/P/D ARMS

Accepted by	Title	Date

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

Quotation 587587 Page 26 / 45 (cont'd)

325 S. Main Street Salinas, CA 93901 (831) 757-4107 Monterey Santa Cruz San Benito

Descri	ption	Quantity	Unit Price	Extended Price
61	5" RANGE: STD:5" PNEU SEAT HEIGHT RANGE			
	HDR OPT: *OPT:LEAP HEADREST OPTION			
	NO HDRST: STD:OMIT HEADREST			
	STEELCASE			
	Tag For Qty Description			
	1 Room 167 Manager			
	1 Room 101 Recention			
	1 Room 101 Reception			
62	UPBC3072 - Worksurface-Bullet peninsula, Plastic edge, Laminate, Curved, 30D x 71 1/2W	1	208.78	208.78
	EDGE: 6245 CLEAR WALNUT			
	TOP-SURF: 2538 CLEAR WALNUT (HPL)			
	WKSF OPT: *OPT:WORKSURFACE OPTION			
	OMIT: OMIT SCALLOPS			
	STEELCASE			
	Tag For Qty Description			
	1 ROOM 172			
63	P18 - Prevailing Labor and Hilti Wall Mounting Kit For Wall Mounted	1	90.00	90.00
	Units (Binder Bins, Bookshelves, Panels, etc.)			
	PENINSULA			
	Tag For TO INCLUDE CLEAT FOR P-TOP			
64	TS4TCAFE285 - Base-Café, 28 dia x 5 dia col	1	359.48	359.48
Ĩ	BASE: 4798 STERLING METALLIC			
6	STEELCASE			
	Tag For ROOM 172			
65	BFRQ30 - Table-Square, 30D	1	114.56	114.56
	EDGE: 6245 CLEAR WALNUT			
	TOP-SURF: 2538 CLEAR WALNUT (HPL)			
	STEELCASE			
	Tag For ROOM 172			
66	BX26 - Base-X, 26W	1	128.32	128.32
×	BASE: 4798 STERLING METALLIC			
×	COLUMN: 4798 STERLING METALLIC			
	STEELCASE			
	Tag For ROOM 172			

Accepted by______ Title_____ Date_____

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

Quotation 587587 Page 27 / 45 (cont'd)

325 S. Main Street Salinas, CA 93901 (831) 757-4107 Monterey Santa Cruz San Benito

Description	Quantity	Unit Price	Extended Price
67 TS3HL - Campfire; Seating-Half lounge UPHLSTRY: 5691 ORCA STEELCASE	2	793.50	1,587.00
TS4TWP - Campfire; Table-Personal TOP OPT: *OPT:TOP SELECTION HPL TOP: STD:HPL TOP TOP-SURF: TOP SURFACE LAMINATE: *TOP-SURF:LAMINATE FINISHES 2730: ARCTIC WHITE STEELCASE	1	229.08	229.08
69 477100 - Max Stacker III; Chair Shell Finish: Plastic - PG1 6336 - JAZZ Frame Finish: Smooth Metallic 4799 - PLATINUM METALLIC Tablet: No Tablet Bookrack: No Bookrack Glides: Soft Felt Glides STEELCASE Tag For ROOM 172	4	109.06	436.24
70 490710P - Move; Stool, Plastic seat / back, No arms, Glides FRAME: 4799 PLATINUM METALLIC SEAT: 6335 WASABI SHELL: 6335 WASABI GLIDES: *OPT:GLIDES SOFT GLD: SOFT GLIDES STEELCASE Tag For ROOM 172	3	254.25	762.75
71 490710P - Move; Stool, Plastic seat / back, No arms, Glides FRAME: 4799 PLATINUM METALLIC SEAT: 6336 JAZZ SHELL: 6336 JAZZ GLIDES: *OPT:GLIDES SOFT GLD: SOFT GLIDES STEELCASE Tag For ROOM 172	3	254.25	762.75

Accepted by______Title_____ Date____



SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

325 S. Main Street Salinas, CA 93901 (831) 757-4107 Monterey Santa Cruz San Benito **Quotation 587587** Page 28 / 45 (cont'd)

Description	Quantity	Unit Price	Extended Price
Sub Total SALINAS, CITY OF MONTEREY, COUNTY OF CALIFORNIA, STATE OF Total			96,432.90 1,446.51 1,687.54 5,785.98 105,352.93
Bldg 5			

Accepted by	Title	Date

Accepted by___

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

325 S. Main Street

Salinas, CA 93901

(831) 757-4107

Monterey Santa Cruz San Benito **Quotation 587587** Page 29 / 45 (cont'd)

Date

Description Quantity **Unit Price Extended Price Subsection Finish Summary** Worksurface 2538 2538 - CLEAR WALNUT (HPL) 4799 4799 - PLATINUM METALLIC 6245 6245 - CLEAR WALNUT Worksurface Accessory 4799 PLATINUM METALLIC 4799 PLATINUM METALLIC Freestanding Storage 25L8 CLEAR WALNUT (LPL) 25L8 CLEAR WALNUT (LPL) 4798 STERLING METALLIC 9201 POLISHED CHROME Storage Accessory 0835 BLACK Pedestal 25L8 CLEAR WALNUT (LPL) 9201 POLISHED CHROME File 25L8 CLEAR WALNUT (LPL) 25L8 CLEAR WALNUT (LPL) 9201 POLISHED CHROME Seating 4799 PLATINUM METALLIC 5092 GRAPHITE 59DF GRADED IN PR. G: 3701/802 59DF GRADED IN PR. G: 3701/802 6053 SEAGULL **6205 BLACK** 6249 PLATINUM SOLID 775.28 775.28 MIGRELRQ - Migration; Desk-Rectangle, Electric Depth: 29.00000 Width: 70.00000 Top Surface Finish: Woodgrain HPL 2538 - CLEAR WALNUT (HPL)

Title

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

Quotation 587587 Page 30 / 45 (cont'd)

325 S. Main Street Salinas, CA 93901 (831) 757-4107

Descr	iption		Quantity	Unit Price	Extended Price
72	Base Finish:	Plastic - PG1 6245 - CLEAR WALNUT Smooth Metallic 4799 - PLATINUM METALLIC D/Down Controller			
	STEELCASE Tag For	DEOF002 Qty Description 1 ROOM 105			
73	MIGCBK4 - M STEELCASE Tag For	igration; Bracket-Cable, Package quantity 4 DEOF002 Qty Description 1 ROOM 105		16.28	16.28
74	CPUMINI - CP STEELCASE Tag For	PU cradle, Mini DEOF002 Qty Description 1 ROOM 105	1	88.83	88.83
75	64W	reen-Modesty and privacy, Cableway, Universal clamp, PLATINUM METALLIC DEOF002 Qty Description 1 ROOM 105	1	503.24	503.24
76		C - FYI; Monitor arm-Single, C clamp bracket PLATINUM METALLIC DEOF002 Qty Description 2 ROOM 105	2	203.04	406.08
77	BASIC: 25L8 (LOCK: 9201 F PULL OPT: *C	Pedestal, Mobile, 1 box / 1 file, 18D x 15W x 21 1/2H CLEAR WALNUT (LPL) POLISHED CHROME DPT:PULL OPTIONS LEDGE PULL PLATINUM DEOF002	1	377.13	377.13
Acce	pted by	Title		Date_	

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

Quotation 587587 Page 31 / 45 (cont'd)

325 S. Main Street Salinas, CA 93901 (831) 757-4107

Description			Quantity	Unit Price	Extended Price
77		Qty Description			
		1 ROOM 105	_		
78	TS5ALATF4 -	Lateral file-Freestanding, 4 drawers, 20D x 36W x 58H	1	996.67	996.67
	BASIC: 25L8	CLEAR WALNUT (LPL)			
	LOCK: 9201 F	POLISHED CHROME			
	TOP-SURF: 2	5L8 CLEAR WALNUT (LPL)			
	EDGE: *OPT:I	EDGE PROFILE OPTIONS			
	FLAT: STD:F	LAT EDGE PROFILE			
	PULL OPT: *C	OPT:PULL OPTIONS			
	LEDGEPLT: l	LEDGE PULL PLATINUM			
	STEELCASE				
	Tag For	LF/4/42			
		Qty Description	_		
		1 Room 105			
79	TS5ALFTBR -	- Payback; Rail-Lateral file, Front to back	2	39.50	79.00
	BASIC: 0835	BLACK			
	STEELCASE	_			
	Tag For	Qty Description	_		
		2 Room 105	_		
80	front, 18D x 42	- Cabinet-Storage, 5 adjustable shelves, Flush steel 2W x 83 1/2H STERLING METALLIC	1	908.45	908.45
	LOCK: 9201 F	POLISHED CHROME			
	KEYS: SK PL	UG			
	TOP OPT: *OF	PT:TOP OPTIONS			
	STL TOP: ST	D:1" STEEL TOP			
	STEELCASE				
	Tag For	SC/83-1/2			
		Qty Description	_		
		1 Room 122 Sewing Room	_		
81	TS5AB663614	4 - Classic Payback; Bookcase, 14D x 36W x 66H	1	308.52	308.52
B	BASIC: 25L8	CLEAR WALNUT (LPL)			
	TOP-SURF: 2	5L8 CLEAR WALNUT (LPL)			
	EDGE: *OPT:I	EDGE PROFILE OPTIONS			
	FLAT: STD:F	LAT EDGE PROFILE			
	STEELCASE				
	Tag For	Qty Description	_		
			_		
Acce	pted by	Title		Date	
555	- · · · · · · · · · · · · · · · · · · ·	1140			

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

325 S. Main Street Salinas, CA 93901 (831) 757-4107

Monterey Santa Cruz San Benito

Quotation 587587 Page 32 / 45 (cont'd)

Descri	escription			Unit Price	Extended Price
81		1 Room 105			
82	FABRIC: 59D DESIGNTI Purchaser Pattern: LU Color: CIT Direction: SHELL: 6053 CASTERS: *(SOFT CST: SEATFOAM:	Cart;Chair,Uph seat,Arms,Pneu H adj PLATINUM METALLIC DF GRADED IN PR. GRP. 6 EX, INC. : VENDOR USTER -3701 YSCAPE -802 HORIZONTAL B SEAGULL OPT:CASTERS *OPT:SEAT FOAM OPTION TANDARD SEAT FOAM		590.25	1,180.50
83	BASE: 4799 SHELL: 6205 CASTERS: *0	Kart;Stool,Non uph,Arms PLATINUM METALLIC BLACK OPT:CASTERS SOFT CASTERS		552.35	552.35
84		Work, 72"D x 26-38"H ench w/ 1 3/4" butcher block surface (no grommet, 1/8"r WKBH001 PRODUCTION WORKBENCH Qty Description 2 BLDG 5 ROOM 125 1 BLDG 5 ROOM 126	3	1,336.00	4,008.00
85	713 - TechWo	ork, 72"W x 48"H Upper Frame WKBH001 PRODUCTION WORKBENCH Qty Description		550.93	1,652.79
Acce	pted by	Title		Date_	

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

Quotation 587587 Page 33 / 45 (cont'd)

325 S. Main Street Salinas, CA 93901 (831) 757-4107

Desc	ription		Quantity	Unit Price	Extended Price
85		2 BLDG 5 ROOM 125			
		1 BLDG 5 ROOM 126			
86	71912 - Tecl Fused Lamin SAFCO	h nate Fixed Shelf	3	324.80	974.40
	Tag For	WKBH001 PRODUCTION WORKBENCH Qty Description			
		2 BLDG 5 ROOM 125 1 BLDG 5 ROOM 126			
87	TWDRWR - Utility Drawe SAFCO	TechWork, 16"W x 12-1/2"D x 6"H er	3	249.60	748.80
	Tag For	WKBH001 PRODUCTION WORKBENCH Qty Description			
		2 BLDG 5 ROOM 125 1 BLDG 5 ROOM 126			
88		/ork, 72"W x 36"D x 26-38"H Bench w/Thermally Fused face	1	958.93	958.93
	Tag For	WKBH002 PACKAGING WORKBENCH Qty Description			
		1 BLDG 5 ROOM 124			
89	713 - TechW SAFCO	/ork, 72"W x 48"H Upper Frame	1	550.93	550.93
	Tag For	WKBH002 PACKAGING WORKBENCH Qty Description 1 BLDG 5 ROOM 124			
90	71912 - TechWork, 72"W x 12"D Thermally Fused Laminate Fixed Shelf SAFCO		1	324.80	324.80
	Tag For	WKBH002 PACKAGING WORKBENCH Qty Description			
		1 BLDG 5 ROOM 124			
91	719 - TechW SAFCO	Vork, 72"W x 18"D Thermally Fused Laminate Fixed Shelf	1	432.00	432.00
٨٥٥٥	anted by	_Title_		Date	

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

Quotation 587587 Page 34 / 45 (cont'd)

325 S. Main Street Salinas, CA 93901 (831) 757-4107

Desc	ription		Quantity	Unit Price	Extended Price
91	Tag For	WKBH002 PACKAGING WORKBENCH Qty Description			
		1 BLDG 5 ROOM 124	_		
92		/ork, 60"W x 36"D x 26-38"H Bench w/Therma ll y Fused face	2	892.27	1,784.54
	Tag For	WKBH003 PACKAGING WORKBENCH Qty Description			
		2 BLDG 5 ROOM 124	_		
93	74P - 1" O.D INTERME).X16 GA.X73 3/4" L. CHR	100	14.29	1,429.00
	Tag For	25 Units 24" X 47" X 74" OH with 5 shelves - SS			
		STRK002 Qty Description			
		100 BLDG 5 ROOM 124	_		
94	A2442NC - SUPER ADJUST SHELF - CHROME INTERME		125	56.67	7,083.75
	Tag For	25 Units 24" X 47" X 74" OH with 5 shelves - SS			
		STRK002 Qty Description			
		125 BLDG 5 ROOM 124	_		
95	9993S - STAINLESS FOOT PLATE INTERME		40	16.19	647.60
	Tag For	40 ea. SS Footplates			
		STRK002 Qty Description			
		40 BLDG 5 ROOM 124	_		
96	9994Z - POST CLAMP FOR SPR. INTERME		64	3.77	241.28
	Tag For	Optional Post Clamps			
		STRK002 Qty Description			
		64 BLDG 5 ROOM 124	_		
97	P18 - Prevai Units	iling Labor and Hilti Wall Mounting Kit For Wall Mounted	25	90.00	2,250.00
•	epted by	Title		Date	

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

325 S. Main Street Salinas, CA 93901 (831) 757-4107 Monterey Santa Cruz San Benito **Quotation 587587** Page 35 / 45 (cont'd)

Desc	ription		Quantity	Unit Price	Extended Price
97	(Binder Bins PENINSULA	, Bookshelves, Panels, etc.)			
98	H-6918 - DE BACKSPLAS ULINE	LUXE STAINLESS STEEL WORKTABLE - 72 X 30" WITH SH	4	770.19	3,080.76
	Tag For	TALY LAUNDRY TABLE Qty Description			
		4 BLDG 5 ROOM 120			
99	H-3776S - C DOORS, 45 ULINE	ORROSIVE SAFETY CABINET - SELF-CLOSING GALLON	2	1,167.70	2,335.40
	Tag For	STCN002 S Storage Cabinet, Hazardous Qty Description			
		1 BLDG 5 ROOM 125 1 BLDG 5 ROOM 126			
100	H-5725 - PA ULINE	LLET RACK WIRE DECKING - 46" WIDE, 48" DEEP	16	39.75	636.00
	Tag For	PALLET RACK STRK001			
101	H-5716 - 2 S	SHELF PALLET RACK STARTER UNIT - 96 X 48 X 96"	4	445.96	1,783.84
	ULINE				
	Tag For	PALLET RACK STRK001			
102		NCRETE INSTALLATION KIT FOR RACK RS AND PALLET RACKS	8	6.21	49.68
	Tag For	STRK001			
103	Units	ling Labor and Hilti Wall Mounting Kit For Wall Mounted , Bookshelves, Panels, etc.)	8	90.00	720.00
104	FREIGHT - F		1	720.02	720.02
105		- Leap; Chair, 3D knit, Adjustable seat depth, Sewn	2	696.71	1,393.42
Or	BACK: 5092	2 GRAPHITE			
K	PLASTIC: 6	249 PLATINUM SOLID			
	UPHLSTRY	: 59DF GRADED IN PR. GRP. 6			
		TEX, INC. er: VENDOR			
۸ ۵۵۰	ontad by	Title		Dete	
ACCE	pted by	ııııe		Date	

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

Quotation 587587 Page 36 / 45 (cont'd)

325 S. Main Street Salinas, CA 93901 (831) 757-4107 Monterey Santa Cruz San Benito

Description Quantity Unit Price Extended Price

105 Pattern: LUSTER **-**3701

Color: CITYSCAPE -802 Direction: HORIZONTAL CASTERS: *OPT:CASTERS SOFT CST: SOFT CASTERS

ARMS: *OPT:ARM OPTIONS LEAP
H/W/P/D: STD:H/W/P/D ARMS
LUMB OPT: *OPT:LUMBAR OPTION

LUMBAR: STD:LUMBAR

SEAT HGT: *OPT:BASE ASSY HEIGHT RANGE **5" RANGE:** STD:5" PNEU SEAT HEIGHT RANGE **HDR OPT:** *OPT:LEAP HEADREST OPTION

NO HDRST: STD:OMIT HEADREST

STEELCASE

Tag For LEAP

Qty Description

1 ROOM 105 1 ROOM 122

 Sub Total
 39,998.27

 SALINAS, CITY OF
 599.99

 MONTEREY, COUNTY OF
 699.99

 CALIFORNIA, STATE OF
 2,399.92

 Total
 43,698.17

Bldg 6

Accepted by

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

Quotation 587587 Page 37 / 45 (cont'd)

Date

325 S. Main Street Salinas, CA 93901 (831) 757-4107 Monterey Santa Cruz San Benito

Unit Price Description Quantity **Extended Price Subsection Finish Summary** Panel Accessory 59DB GRADED IN PR. G: 3468U/811 Worksurface 2538 2538 - CLEAR WALNUT (HPL) 4799 4799 - PLATINUM METALLIC 6245 6245 - CLEAR WALNUT Worksurface Accessory 4799 PLATINUM METALLIC 4799 PLATINUM METALLIC Overdesk Storage 25L8 CLEAR WALNUT (LPL) 25L8 CLEAR WALNUT (LPL) 9201 POLISHED CHROME Freestanding Storage 25L8 CLEAR WALNUT (LPL) 25L8 CLEAR WALNUT (LPL) 9201 POLISHED CHROME Storage Accessory 0835 BLACK Pedestal 25L8 CLEAR WALNUT (LPL) 9201 POLISHED CHROME File 25L8 CLEAR WALNUT (LPL) 25L8 CLEAR WALNUT (LPL) 9201 POLISHED CHROME Table 2538 CLEAR WALNUT (HPL) 4798 STERLING METALLIC 6245 CLEAR WALNUT FPLS FLAT PLASTIC EDGE Seating 4799 PLATINUM METALLIC

Title

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

Quotation 587587 Page 38 / 45 (cont'd)

325 S. Main Street Salinas, CA 93901 (831) 757-4107 Monterey Santa Cruz San Benito

Descri	ption			Quantity	Unit Price	Extended Price
	5092 GR	APHITE				
		ADED IN PR. G: 3701/802				
		ADED IN PR. G: 3701/802				
	6053 SE					
	6205 BL/					
		ATINUM SOLID				
	Lighting	A 017				
	6000 BL/	ACK				
106	TS5ASMD72 - 72W x 36H	- Cabinet-Overhead storage,	Credenza, 4 doors, 16D x	1	635.76	635.76
		CLEAR WALNUT (LPL)				
4	TOP-SURF: 2	5L8 CLEAR WALNUT (LPL)				
	EDGE: *OPT:	EDGE PROFILE OPTIONS				
	FLAT: STD:FI	LAT EDGE PROFILE				
	DOOR OPT: *	OPT:DOOR OPTION				
	LAM LK: LAN	INATE DOOR - LOCKING				
	LOCK: LOCK	<				
	POL CHR: *	LOCK:POLISHED CHROME				
	9201: POLIS	SHED CHROME				
	STEELCASE					
	Tag For	CREDC				
		Qty Description				
		1 ROOM120				
107	TS5ATB72 - T	ackboard-Straight, 68 11/16W	/ x 17H	1	200.42	200.42
	TKBD : 59DB	GRADED IN PR. GRP. 2				
	DESIGNTE					
	Purchaser: Pattern: GA	VENDOR AMUT UNFINISHED -3468U				
		BLESTONE -811				
	FAB DIR: *OP	T:FABRIC DIRECTION				
		ZONTAL APPLICATION ONL'	Y			
	STEELCASE	ODEDO				
	Tag For	CREDC Qty Description				
		1 ROOM 120		-		
		I ROOM IZU				

Accepted by	Title	<u> </u>	Date	
•	_			

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

325 S. Main Street

Salinas, CA 93901

(831) 757-4107

Page

Monterey Santa Cruz San Benito

Quotation 587587 Page 39 / 45 (cont'd)

Description Quantity **Unit Price Extended Price** 108 1 192.50 192.50 LSL18 - Light-Shelf, LED, 18 1/2W BASIC: 6000 BLACK MNTG OPT: *OPT:MOUNTING OPTIONS **FASTENER:** FASTENER KIT FOR WOOD/ALUMINUM **STEELCASE** CREDC **Tag For Qty Description** 1 ROOM 120 1,100.62 109 TS5ACLL2472 - Credenza-Double lateral files, 24D x 72W 1 1,100.62 **BASIC: 25L8 CLEAR WALNUT (LPL)** LOCK: 9201 POLISHED CHROME TOP-SURF: 25L8 CLEAR WALNUT (LPL) **EDGE:** *OPT:EDGE PROFILE OPTIONS FLAT: STD:FLAT EDGE PROFILE **POWER: *OPT:POWER OPTIONS PULL OPT: *OPT: PULL OPTIONS LEDGEPLT: LEDGE PULL PLATINUM STEELCASE** Tag For **CREDC Qty Description** 1 ROOM 120 110 891.93 891.93 AKF6030RTC - Akira; Table-Rectangle, Flip top, T base, Fixed height, Casters, 60L x 30W **BASE:** 4798 STERLING METALLIC **EDGE: 6245 CLEAR WALNUT EDGETYPE:** FPLS FLAT PLASTIC EDGE TOP: 2538 CLEAR WALNUT (HPL) **STEELCASE** Tag For TATG002 **Qty Description** 1 ROOM 122 111 **TS5AFMBF -** Pedestal, Mobile, 1 box / 1 file, 18D x 15W x 21 1/2H 377.13 377.13 **BASIC:** 25L8 CLEAR WALNUT (LPL) LOCK: 9201 POLISHED CHROME **PULL OPT: *OPT: PULL OPTIONS LEDGEPLT: LEDGE PULL PLATINUM STEELCASE** Accepted by Title Date

Accepted by_____Title__

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

Quotation 587587 Page 40 / 45 (cont'd)

_____ Date____

325 S. Main Street Salinas, CA 93901 (831) 757-4107 Monterey Santa Cruz San Benito

Descri	ption		Quantity	Unit Price	Extended Price
111	Tag For	DEOF002			
		Qty Description			
		1 ROOM 120			
112	TS5ALATF4 -	Lateral file-Freestanding, 4 drawers, 20D x 36W x 58H	1	996.67	996.67
	BASIC: 25L8 (CLEAR WALNUT (LPL)			
	LOCK: 9201 F	POLISHED CHROME			
	TOP-SURF: 25	5L8 CLEAR WALNUT (LPL)			
	EDGE: *OPT:	EDGE PROFILE OPTIONS			
	FLAT: STD:FI	_AT EDGE PROFILE			
	PULL OPT: *C	PT:PULL OPTIONS			
	LEDGEPLT: L	EDGE PULL PLATINUM			
	STEELCASE				
	Tag For	LF/4/42			
		Qty Description			
		1 Room 120			
113	TS5ALFTBR -	Payback; Rail-Lateral file, Front to back	2	39.50	79.00
	BASIC: 0835 F	BLACK			
	STEELCASE				
114	TS5AB663614	- Classic Payback; Bookcase, 14D x 36W x 66H	1	308.52	308.52
B	BASIC: 25L8 (CLEAR WALNUT (LPL)			
13	TOP-SURF: 25	5L8 CLEAR WALNUT (LPL)			
	EDGE: *OPT:E	EDGE PROFILE OPTIONS			
	FLAT: STD:FI	LAT EDGE PROFILE			
	STEELCASE				
	Tag For	BC/5/42			
115	MIGRELRQ - I	Migration; Desk-Rectangle, Electric	1	775.28	775.28
	Depth: 29.000	00			
1,	Width: 70.000	00			
	•	inish: Woodgrain HPL 2538 - CLEAR WALNUT (
	HPL)	Plastic - PG1 6245 - CLEAR WALNUT			
	_	Smooth Metallic 4799 - PLATINUM METALLIC			
		b/Down Controller			
	STEELCASE	, DOWN CONTROLLO			
	Tag For	DEOF002			
	-	Qty Description			
		1 ROOM 120			

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

Quotation 587587 Page 41 / 45 (cont'd)

325 S. Main Street Salinas, CA 93901 (831) 757-4107 Monterey Santa Cruz San Benito

Descri	Description			Unit Price	Extended Price
116	MIGCBK4 - M STEELCASE	igration; Bracket-Cable, Package quantity 4	1	16.28	16.28
	Tag For	DEOF002			
		Qty Description			
		1 ROOM 120			
117	CPUMINI - CP	PU cradle, Mini	1	88.83	88.83
	STEELCASE				
	Tag For	DEOF002			
		Qty Description	<u></u>		
		1 ROOM 120			
118	ACMP64 - Scr 64W	reen-Modesty and privacy, Cableway, Universal clamp	, 1	503.24	503.24
5		PLATINUM METALLIC			
	STEELCASE				
	Tag For	DEOF002			
		Qty Description			
		1 ROOM 120			
119	FPASINGLEC	C - FYI; Monitor arm-Single, C clamp bracket	2	203.04	406.08
1	BASIC : 4799 I	PLATINUM METALLIC			
4	STEELCASE				
	Tag For	DEOF002			
		Qty Description			
		2 ROOM 120			
120	126A201S - K	art;Chair,Uph seat,Arms,Pneu H adj	2	590.25	1,180.50
2	BASE : 4799 P	PLATINUM METALLIC			
7	FABRIC: 59DF	GRADED IN PR. GRP. 6			
	Color: CITY	VENDOR STER -3701 'SCAPE -802 IORIZONTAL			
	CASTERS: *C	PT:CASTERS			
	SOFT CST: S	OFT CASTERS			
	SEATFOAM: *	OPT:SEAT FOAM OPTION			
	STD: STD:ST	ANDARD SEAT FOAM			
	STEELCASE				
	Tag For	Qty Description			
		2 ROOM 120			

Accepted by______Title_____ Date____

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

Monterey Santa Cruz San Benito Quotation 587587 Page 42 / 45 (cont'd)

325 S. Main Street Salinas, CA 93901 (831) 757-4107

Descri	iption		Quantity	Unit Price	Extended Price
121		Kart;Stool,Non uph,Arms	2	552.35	1,104.70
	BASE : 4799 I	PLATINUM METALLIC			
*	SHELL: 6205	BLACK			
	CASTERS: *(OPT:CASTERS			
	SOFT CST: S	SOFT CASTERS			
	STEELCASE				
	Tag For	Qty Description			
		2 Room 100			
122	46296189 - Le	eap Plus; Chair, 3D knit, Adjustable seat depth	1	985.31	985.31
O.	BACK: 5092	GRAPHITE			
K	PLASTIC: 62	49 PLATINUM SOLID			
	UPHLSTRY:	59DF GRADED IN PR. GRP. 6			
	Color: CIT` Direction: I				
	SOFT CST: S	SOFT CASTERS			
	ARMS: *OPT	ARM OPTIONS LEAP			
	H/W/P/D: ST	D:H/W/P/D ARMS			
	LUMB OPT: *	OPT:LUMBAR OPTION			
	LUMBAR: S	TD:LUMBAR			
	SEAT HGT: *	OPT:BASE ASSY HEIGHT RANGE			
	4" RANGE: S	STD:4" PNEU SEAT HEIGHT RANGE			
	STEELCASE				
	Tag For	CHTR001			
		Qty Description			
		1 Room 120			
Cub T	-4al				0.040.77

Sub Total	9,842.77
SALINAS, CITY OF	147.66
MONTEREY, COUNTY OF	172.27
CALIFORNIA, STATE OF	590.58
Total	10,753.28
Bldg 7	

Accepted by	Title	Date

Accepted by

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

Quotation 587587 Page 43 / 45 (cont'd)

Date

325 S. Main Street Salinas, CA 93901 (831) 757-4107 Monterey Santa Cruz San Benito

Description Quantity **Unit Price Extended Price Subsection Finish Summary** Worksurface 2538 CLEAR WALNUT (HPL) **6245 CLEAR WALNUT** Support or Bracket 4799 PLATINUM METALLIC 4799 PLATINUM METALLIC Seating 5092 GRAPHITE 59DF GRADED IN PR. G: 3701/802 6249 PLATINUM SOLID 985.31 2.955.93 123 46296189 - Leap Plus; Chair, 3D knit, Adjustable seat depth **BACK: 5092 GRAPHITE PLASTIC: 6249 PLATINUM SOLID UPHLSTRY:** 59DF GRADED IN PR. GRP. 6 DESIGNTEX, INC. Purchaser: VENDOR Pattern: LUSTER -3701 Color: CITYSCAPE -802 Direction: HORIZONTAL **CASTERS: *OPT:CASTERS SOFT CST: SOFT CASTERS ARMS: *OPT:ARM OPTIONS LEAP** H/W/P/D: STD:H/W/P/D ARMS **LUMB OPT: *OPT:LUMBAR OPTION LUMBAR: STD:LUMBAR SEAT HGT: *OPT:BASE ASSY HEIGHT RANGE** 4" RANGE: STD:4" PNEU SEAT HEIGHT RANGE STEELCASE CHTR001 Tag For **Qty Description** 1 Girls 2 Boys 161.28 322.56 2 124 BFRQ36 - Table-Square, 36D **EDGE: 6245 CLEAR WALNUT** TOP-SURF: 2538 CLEAR WALNUT (HPL) STEELCASE

Title

SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

Quotation 587587 Page 44 / 45 (cont'd)

325 S. Main Street Salinas, CA 93901 (831) 757-4107 Monterey Santa Cruz San Benito

Descr	iption		Quantity	Unit Price	Extended Price
124	Tag For	TAMP006			
		Qty Description			
		1 ROOM 102	-		
		1 ROOM 103			
125	BX36 - Base-X	, 36W	2	163.52	327.04
*	BASE : 4799 P	LATINUM METALLIC			
\times	COLUMN : 479	9 PLATINUM METALLIC			
	STEELCASE	_			
	Tag For	TAMP006			
		Qty Description			
		1 ROOM 102	_		
		1 ROOM 103			
MON	otal NAS, CITY OF TEREY, COUN FORNIA, STATI				3,605.53 54.09 63.10 216.33
Total					3,939.05
126		- Lock Cylinder-FR Series, Polished Chrome OLISHED CHROME	51	N/C	N/C
	9-FR305 6-FR306 6-FR307 6-FR308 6-FR309 6-FR310 6-FR311 6-FR312 STEELCASE	EC			
127		EES FOR THE PLANNING AND PRODUCTION OF OR THE APPLICATION OF FURNITURE ON THIS	15	105.00	1,575.00
128	ASSEMBLY, FA	ING LABOR FEES, FOR DELIVERY AND OR ABRICATION (Modular Furniture) OF PRODUCT AS TO THIS ORDER.	1	39,051.29	39,051.29
Quota Sub T	ation Totals otal				212,626.60

Accepted by______ Title_____ Date_____



SPECIALISTS IN OFFICE FURNISHINGS AND DESIGN

325 S. Main Street

Salinas, CA 93901

(831) 757-4107

Monterey Santa Cruz San Benito **Quotation 587587** Page 45 / 45 (cont'd)

SALINAS, CITY OF MONTEREY, COUNTY OF CALIFORNIA, STATE OF **Grand Total**

3,189.46 3,720.99 12,757.66 **232,294.71**

Select Images are provided as a preliminary color and type representation and should not be used for final color and product selection. Due to individual computer/monitor/printer settings: color, texture, pattern, size and feature rendering may vary from the actual sample. For accuracy, order and view an actual sample.

End of Quotation

Accepted by	Title	Date

